TEEXHILT [ %264 ]
ol W fEEREE S| S00287 |11Fﬁ<ﬁﬁrm>|$ﬁrg§ﬁa,§m1734gﬂg
1 R B REEES)
> BB REEA L RIRTIREFRES |REEE FRA1434E
= LB BUE BUBHA) CELRER |MERS| 12 AHMAME
= 2 | Re—T—nicspmEMOEMITHEY 518 REEOBIOLIEAVELS
A g 4 MACTEERFAROFRICEBIELIEORREHAEMLIC LN, R
# | | BEOEBRENBETH LB DN S,
BERE Bk RS | SoEEERE  [REsEay) 0a
+it [BupmEHE 1968.00 M |FiAE| i MR - e —
EnEi|ES i | A (105em B HA) - b 1B T ORS
xt-3| A& E& BEEAE 13,490,000 M
2 |ErmE 628.56 m k] i |mims| B
HEBY (EEER) | R84 | miEws (= ER) | TR EE
® g?;; EERE eSS HERE 2 A (Biid)
B |paris| FRAEE E& [REGES 51,126,600 F
| £ @k
|-~
| 8%
E| 0O
0 &
YRY - R AL I
wmEE omEs  |BE 5 BROSECRESNLOTHY . HEIC LS HAFREREOLH2ETHHN, B
EE [<TAEREBZEHEATNIENLHE . FREORANDETHS.,
RL. Ha. GRS 5E
2 F OB R TIHARBI
FHEET REEIE
F A5 7:00~19:00 AEEH |EmB.#B.128208~1838| EEREE EE
EESMGEEEE0SA) [ 8| £ A H© | =| A H
EEE BEEL| Mk EER | 2BRE | RERUZEUEFIHEORECE N REORE
Ol Emma] 110 A] B8 | 000 A[sEmmal ooo Alxsmms] ooo A] &3t [ 110 A
B
2 RoNREERITR BROEE FEISRIRE
B HEEERE 6,149,710 BE-EXERE 0
# S B E 3,055,613 R BEERY
ga)z R MR RN 190,420 ZOMmDEE
= BEH 381,525
& 1EEE 883,999 |@/Mat 0
i“ ZOMDOEE 1,638,153 BRI ZIMA
B A& 7,961,800 8 FERAZEIRA 16,292,500
- BE % 7,961,800 | 3= |[ZDftIRA
FEEBE 0
et 14,111,510 |@QFMURA&& 16,292,500
EH(D+@)—Q -2,180,990 A R—AHYDIRE -12.98 [
EEM GBEIHE) H26 4% (FE40)
HANE = R G =
iz H24 H25 H26 ERTTRES | iRE= (%)
%) FHREABRREH A 1,000 1,068 1,076 1,080 99.63%
%
)
X [EbmrzAT 50k BRI 57 R
o
21§




HEHDKR

it
Ei X i P A MEE
B e EMAaw A& e KE%® | BE4A wem | | m
aoH—F-Jny -
S00288| E-REE |fEIEYETEE fEEYMAE %%};émxwg-tm 1.95m |mBfne3s11A258( 280,000 | FAE | F&
A& (H1050cm A . . .
S00289| E—REE |E& EE %é -th 1R | 45.90m  |#@%0494 3H30H| 3,020,000 |EHEF| KIEF
0|
S00290| =R HE |HEHEES BEEES (B armar) | teser |mmdesngial R | FE | FE
S00201| E—REE &R BE BKBOMmAT) | 9070 |m@Enaezm11f 18| FEA FE | 7=

o b 17 - 3t T OB

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - 4 TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3h b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

- b B - TR

-3 b B - 3t TR

- _E B - 0 TR

-3 b B - 3t TR

- b - 1 T RS




